BEEF
RoHS#E

B

EESRHHA

=@y A—FuES
=

#hEA:5~7H

it 71 & 500kef
# B ‘I'\)l« b-F v b SS4004H

m SSIEFESMHR (2 t)
RELE _ﬁlﬁ7 Aax—k

W

F¥ﬁ§m0)_*ﬂz' \)l-/ }“—G-a-g

D-DI &EHALTITHEACEEL,

6Ty FEOT VY —EZFATSEL,

QBEEEMT IBAITFNACAHAZANTHYET. £0D
&, MEERIHREOROMES Y b LERAICEAT,
REFRVVEEICE > TUVEYT, (HHEBRER. #4

#*--D-D I M20 2018F12A31HREEFE

HUANDIH S EY & B &7z W5EG Il L G
Ay bFALTTY,

A—IWRATULRE
==

#MHA:5~7H
fif #1 = 500kgf
## = /'I'\)L kv b SUS3044E2Y
1 M SUS3044m#R (2 t )
RELE K R—F

@A T1E5E21.5- WEL T OO0 CFHAEEE
LTWET,

&1 THF v FEDIFT,
(Fv MEHIFTEY TY)
@ARASAMRTYUH ZHEADEEFX. L2OESIIM20E
51y, MIBIZIS Y, M0IFITSYERLTLEEL,

A THEITTLESLY,

fEQRETY, )
@RIL FDABIA,

BEEEOBBRTHEEDRMICLEART

BHMIIZGE>TWEST EZSE L TCIHERT I,

19(17)

-

&0 &
=20 — 25

[BHESHHAICEE A —IL2T YL 26

D-DI 12X 50 - D-DI 12X 50SUS| M12X1.75| 50 | 72 | 8 | 14 | 55 | 19 | 130
D-DI12X 75 - D-DI 12X 755US| MI2Xx1.75| 75 | o7 | 8 | 14 | 55 | 19 | 150
D-DT 12X 100 = D-DI12X100SUS | MI2X1.75 | 100 | 122 | 8 | 14 | 55 | 19 | 165
DD 112X 120 = D-DI12x1205US | M12x1.75 [ 120 | 142 | 8 | 14 | 55 | 19 | 180
DD 12%125 = D-DI12X1255US | MI12X1.75 | 125 | 147 | 8 | 14 | 55 | 19 | 185
D-D T 12X 150 = D-DI12X150US | MI12X1.75 | 150 | 172 | 8 | 14 | 55 | 19 | 200
! D-DI 16X 65 = = MI6X2.0 | 65 | 93 | 10 | 18 | 75 | 24 | 235
| D-DI16X 75 = D-DI 16X 755US| MI16X2.0 | 75 | 103 | 10 | 18 | 75 | 24 | 245
il D-DI16%100 |D-DI 16X 100-HS|D-D1 16X 100SUS| MI16x2.0 |100 |128 | 10 | 18 | 75 | 24 | 275
i D-DI16%130 |D-DI16X130-HS|D-D116X130SUS| MI6x2.0 |130 |158 | 10 | 18 | 75 | 24 | 315
- L1 D-DI16%150 |D-DI 16X 150-HS|D-DI 16X 150SUS| M16x2.0 |150 |178 | 10 | 18 | 75 | 24 | 340
! D-DI16%180 |D-DI 16X 180-HS|D-D1 16X 180SUS| MI16X2.0 |180 |208 | 10 | 18 | 75 | 24 | 380
| L2 D-DI16%200 |D-DI 16X200-HS|D-D T 1620030 | M16X2.0 |200 | 228 | 10 | 18 | 75 | 24 | 405
i D-DI20%100 |D-DI20X100-HS|D-D120X100sUS| M20X2.5 |100 | 131 | 13 | 18 | 75 | 30 | 435
i D-D120X130 |D-DI20X130-HS|D-D 120X 130SUS| M20X2.5 |130 | 161 | 18 | 18 | 75 | 30 | 495
L D-DI20%150 |D-DI20X150-HS|D-D 120X 1505US| M20X2.5 |150 | 181 | 13 | 18 | 75 | 30 | 540
H D-DI20%180 |D-DI20X180-HS|D-D120X180SUS| M20X2.5 |180 |211 | 13 | 18 | 75 | 30 | 600
| D-DI20X200 |D-DI20X200-HS|D-D120%200SUS| M20X2.5 |200 |231 | 13 | 18 | 75 | 30 | 640
— SeHE e
COYWFEEMI2A T, XEETH A AEYET,

ADJUSTER BOLT




